BE43|ISCATTE 7 A T1/\)L
Bl XE
Erk29F158H
0BT BF 50m B

BA LR B A LR B
B | K 4 F4HE | &8 B | K % F4HE | &8
34|Pq O {2 & INEE 3 35.13 23| B A INZF 5 1:28.49
104|/NEFEEFT) INEE 4 41.51 32|/NE A INEE 5 1:33.39
105 X IE X INEE 1 4158
139/ EEZ INZE 5 4416 15~18% B5BF 100m FikF
180| A AE INZ 4 51.59 A LR B
181|FFERF INEE 2 51.67 B | K 2 FF | B8 &%
4|[E 41 ¥R =4 3 1:03.68

11~12% 5+ 50m BHHEF

A LR 15~18% S+ 200m FikF

B | K % FHE | B8 X% A LR B
19| 5 HA INTE 6 29.88 B | K % FH | B8 %
24| 1k f 5 INE 6 30.08 2|+ R i@ =% 3 2:16.12
96|15 = am INE 5 34.28

11~12m% 5BF 50m /\3T54

84 LR
A LR B IBAL | K e FH | &8 &%
=R v2 K % FIF it §x 11{Ef%ES INE 6 32.39

15|F Q12 &% INTFE 3 1:15.80

24| NE TR N4 | 1:3494

A LR B

11~12% S+ 100m EHHAEF IBRZ| K 4 FHF | &8 &
BA LGRS 13|P9 O[5 3% he 1 30.08
IBAL | K % FHE | &8 &

64| B =i INE 5 1:16.65 13~145% BF 100m /\32754

A LR B

Efz| K & | ¥F |® &
A LR 20|F9 O[5 &k h 1 1:06.63
IBAL | K % FHE | &8

| ERIEX M| 5417

45| A HE th INE 4 54.91 A LR B

56|/ HEE 2 INE 5 56.93 IBRZ| K 4 = | i &

82| = INEE 2 1:09.78 10|15 AT INE 6 2:35.59
RPN
IBGz| K 4 FHE | &8

25|/ EE A INFE 5 41.14

30| H XA INSE 5 41.97




10 LLT &+ 50m BHE

10m LT 5B+ 200m 2V—lL—

A LR B A LR
IBG| K @ 4 a0 % #H IBG | K @ 4 FHE | B8 &%
1. FA O 8k 3| LT ES INE 5 34.88
2. BIEXR 46|17 )1 22 F0 INGE 4 35.69
Bl nsen s I 74| FREE 1 INE 4 | 3692
4. AHEEZ 01U = 3 INE 3 38.45
134|BE A5 F INEE 4 42.63
137] %5 % 2 NE3 | 4274
A LR 160|)I| h ZF& INTE 2 45.66
G| K 4 I #H 162/ EHYE INSE 2 46.20
1. (k&S 163 HEETF INZE 1 46.22
2. AR 169|P4 = 7L 3 INEE 1 47.90
i 3. /NAEES R : 171|EEEHBTE INGE 2 48.49

4. S H#BIT

54 LR
A LR B IBfGL| K 4 FE | B
IBhz| K A ab % #H | &R R ME INTE 6 30.49
1. SEMBIN 24|16 FH A 18 H INFE 5 31.43
2. /NE BT 34| FA A& 5 INE 6 32.47
1 3. (k> e . 40| D457 INEE 6 32.68

4. AR

RPN
IBG| K 4 FHE | B8 &%
32[/NEER th&t 2 32.12

10 LL T ZF 100m BH#

BA LR
B | K & FHE | &
138111 28 F0 INE 4 | 1:16.49

11~12% ZF 100m BHF

A LR B

B | K 2 FHE | &K
18| 81711 B F INTE 6 1:07.85
20| 5 5 R ME INE 6 1:07.93

13~145% ZF 100m BEEHH
R A LR

IR K = 4 FE |G K

31{/MNAEEHR = 2 1:09.82




11~12 ZF 200m BH 11~12 &F 50m /\32054

A LR A LR B
IBAz| K 4 FE |8 & IBhz| K 4 FHE | B8 £
5|87 )11 BEF0 INE 6 2:23.32 20/ H &K AR INE 6 35.92
6| P8 A& 5 INE 6 2:26.33
11~12 Z&F 200m 2')—1L—
10 LT ZF 50m &ikE A LR B
A LR IBRz| K 4 e &% #H
IBhz| K 4 FF |8 & 1. B R ME
74| P B £|, EY INEE 1 57.72 2. AIJIIBRFO
5| EEETE N2 | 5856 3 MO aeid I
4. TEHHT1EH

11~12 &F 100m EHFkFT

84 LR B
IBfGL | B e FHE | B8 &% A LR B
15| € H A 71EH INE 5 1:20.00 IBGZ | K 2 iP % #H
1. EEFHESE
10 LLTF %&F 50m FikE o2 R B D eI 1
A LR B 3. W= HH o
IBfGL | K e FHE | B8 X% 4. gif)I1 280
20| L ¥ E INFE 5 47.90
35| BAR4E F NF4 | 5152
47| 75K B R INE 3 54.32 A LR
67()I P FRFE INEE 2 1:00.40 IBhz| K 4 i 5% #H
73| b AEEF INEE 1 1:04.41 1. BT 1B F]
2. ECHAER
Ol EmxiEm i A
A LR B 4. EIR R ME
IBhz| K 4 e | B8 ©2017 @ BAEEAN BARKKER
17| HAER INE 6 40.78
23| O §EmE INFE 6 41.79
29[ )1 P f5E INFE 5 43.15

10 LLF Z&F 100m Tz

A LR B
IBhz| K 4 FHE | i8  #%
8|FF A = INTE 4 1:41.41
23( )1 hBZE INZE 5 1:34.62

10 LL T Z&F 50m /\3754

A LR

IBRz| K A FE | BB &
34| U= FHEL INEE 3 44.73
511hHYE INER 2 53.16




